- B o) ks % R
| D22 b it g BHT ARHHDY wa §

[2_5Pt) Pm}’ . d- Two thin strips of the same cross section are bent by couples of the
same magnitude and glued together. After the two surfaces in contact have been
sccurely bonded, the couples are removed. Denoting by o, the maximum stress
and by p, the radius of curvature of each strip while the couples were applied,
determine (a) the final stresses at poiuts A, B, C, and D, (b) the final radius of
curvalure. Assume o, < o, and t << Py 0? = MA Sheeoo .

25 ‘t) B‘bb kii A vibration isolation support is made by bonding a rod A, of radius R,
( ; and a tube B, of inside radius R, to a hollow rubber cylinder. Denoling by G the
modulus of rigidity of the rubber; ad adauming the 2loolic vagponae

(ayexpress the deflection of rod A in terms of Q, [, @, R,, and R,
(b)determine the strain energy of the hollow rubber cylinder,

Peb. 3,

(25?&) For the channel section shown in the K4, and neglecting stress concentrations,
(@) Aetermine the shear center of the channel section V =800 N

(b) determine the maximum shearing stress )

100 mm
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(ZW) P}"L.q.. The 1.5-in.-diameter shaft AB is made of a grade of steel for which the
yield strength is o, = 36 ksi‘WUsing the maximum-shearing-stress criterion, deter-
mine the magnitude of the torque T at which yield first occurs when P = 55 kips.

(B) Solve +he Pyop. using the maximum-distortion-energy criterion.
(Hint ¢ The elastic distorsion - enefa-a densfhd Uy
undey three ?r.‘no{i)aﬂ stresaes ;

Uy = e Gy (-0 ] )




